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The state-space representation of the transfer function

G(s)= Y(s) = s+2 has the following form
U(s) 8 +8s%+245+32

0 2 0 0
x=0 0 2\x+|0|u, y=[d e [f]x.Determine a,b,c,d,e, and f.
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A simple model for a disk drive servo with one resonance mode has a transfer
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function given by
2s+4 1 I
= e d) 3 S5
s(s* +28+4) s° st4+2s5+4
If we draw a corresponding block diagram with integrators only, assign the
state as shown in figure below. Please find the state equation for the system.
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Suppose that a closed-loop system model using observer feedback is described
by
% 0 1 0 0 |Ix! [0
Yl -2 -3 23 -7 |x N 3
X 27 0 =27 1 || % 0
% 1420 -167 -10|| %, 3

Find the eigenvalues of the closed-loop system. (93 B A )
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0 1 0 0 27 0
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= 52 +305+225 = (s +15) = 0
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